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R GAEONL, TR ImL BEEIL I, IR UK. Z&IRK.
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PEEUR: iR 60 mLx1 i, 4CERA7;
WA —: A 30mLx1 i,  4CHRATs
WA Brixd i, -20°CIRATs

RA=: Wk 3mLx1 i, 4 CHEICIRTE.
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1. U B IR0, oM BB S 0N, BOaF B RBAmEsg et (ot - #7
IR (mL) 4 500~1000: 1 FELB] G 500 J5 40 sk fgin N 1mL $20GH), B BB (UK,
% 20% 8% 200W, #E7 3s, [H]fE 10s, FEE 307%), 8000g, 25°CHE-L» 10min, H_EiFHAM.

2. HA: WBHNAFE ()  REBERmML) N 1: 5~10 ] CEIREXNZ 0.1g H4, A ImL $2
U, BEATUKIBAIS, 8000g, 25°C &Ly 10min, HU_EIBEAF.

3. M GO SERAREM: EERNE

ME LR
1. 366 FETHTIA 30min BA F, 5% K% 450nm, Z&TRKIHE .
2« WG RS IR AIETII 8mL KFE MR, FIAN SE R 5 20 26 J5-20 °C £ AF 5

3. LARMRHIECH]: I ATHLIEAEAROR, $2BLR Le e ] TR

WABHR (pL) M5E TAEW X T AR
i 500 500
Bl = 250
K 250
i = 50 50
4. FEADE
f5 N RAE L A I R A7
AR (pL) e & Xof PR
FEA 250 250
M TARH 750
Xt B AR 750

37°CHEEIEE 30min, 450nm FIMEWOGME A MES A SR, AA=A MIE-A SFE. FNNEE TR

Xt HEE
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1. FpvHES A NI E B E 7R y = 7.7178x - 0.0016, R2=0.997; x A 6PG && (wmol/mL), y NG,

2. ME GO BB

6PG 7 (nmol/mL) = [(AA+0.0016)+7.7178xV1]+xV1x1000

=129.6x(AA+0.0016)

3. HBEAREE

6PG & (nmol/mg prot) = [(AA+0.0016)+7.7178xV1]+(V1xCpr)x 1000
=129.6x(AA+0.0016) ~Cpr

4, RS EE

6PG & (nmol/g 5 ) = [(AA+0.0016)=7.7178xV1]+(W xV1+V2) x1000
=129.6x(AA+0.0016) ~W

3. MR AT BT i 4 2 T B

6PG & (nmol/10% cell) =[(AA+0.0016)~7.7178xV1]+ (500xV1+V2) x1000

=0.259x(AA+0.0016)

V1 JINKNARRFFEARAEFL, 0.25mL; V2: IIASRBGEAFRL, 1mL; Cpr: HAREAFRKE, mg/mL;
W: FEAJE, g; 500: dNpEsiaifEssl, 500 Ji; 1000, wmol #| nmol 5 R4L.



